RESOLUTION NO. //-/3 CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER Poul Genham ON THE 18-4 DAY OF 40 brunny, 2013.

A RESOLUTION ACCEPTING THE BIDS SUBMITTED BY JOHN DEERE LANDSCAPES, GREEN VELVET SOD FARMS, ADVANCED TURF SOLUTIONS, GREENS KEEPER TURF AND THE HILL COMPANY FOR FERTILIZER FOR THE GOLF CLUB AT YANKEE TRACE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for fertilizer for The Golf Club at Yankee Trace according to specifications prepared by the City, and

WHEREAS, John Deere Landscapes, Green Velvet Sod Farms, Advanced Turf Solutions, Greens Keeper Turf, and the Hill Company were the lowest and best bidders on various products.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the following bids totaling \$31,232.96 are hereby accepted for fertilizers for The Golf Club at Yankee Trace, are marked as Exhibits "A," "B," "C," "D," and "E," are attached hereto and made a part hereof:

A. John Deere Landscapes, \$7,727.50 for the purchase of the following:

250 bags of 24-3-12 @ \$23.75 each \$5,937.50 250 gallons of 12-0-0 +Iron+Zink @ \$7.16 ea \$1,790.00

B. Green Velvet Sod Farms, \$15,205.46 for the purchase of the following:

502 bags of 12-0-0 .15% Dim. @ \$16.98 each \$8,523.96 230 bags of 15-0-4 Merit @ \$19.85 each \$4,565.50 40 bags of 18-9-18 D.G. @ \$52.90 each \$2,116.00

C. Advanced Turf Solutions, \$4,670.00 for the purchase of the following:

200 bags of 22-0-4 (alt) @ \$14.85 each \$2,970.00 50 gal of Micros Plus @ \$34.00 each \$1,700.00

- D. **Greens Keeper Turf, \$1,950.00** for the purchase of the following: 8 acres of Aerification Recovery \$1,950.00
- E. Hill Company \$1,680.00 for the purchase of the following: 60 gal of Gary's Green 18-3-4 @ \$28.00 each \$1,680.00

Section 2. The City Manager is hereby authorized and directed to enter into any necessary contracts to evidence acceptance of said bids and to make payment pursuant thereto.

ATTEST:

Clerk of Council, City of Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 11-13, passed by the Council of the City of Centerville, Ohio on the day of 4ebruary 2013.

Delsa a James
Clerk of Council

Approved as to form, consistency with existing ordinances, the Charter and Constitutional Provisions.

Department of Law Scott A. Liberman Municipal Attorney

Yankee Trace Fertilizer List:	John Deere Landscapes Offerings:	Item#	Qty Requested	Unit Price per Bag/Container	Extended Price	
21-3-12 75% Slow Release	24-3-12M 80%POLYPLUS 1FE	000715	250	\$23.75	\$5,937.50	
Andersons 18-9-18 DG	COUNTRY CLUB 18-3-18E 65% CRN SOP 1.5Fe 0.5MN	090727	40	\$42.00	\$1,680.00	
Andersons 15-0-4 Merit .2	MERIT .2% 21-0-3 30%POLYPLUS	082100	230	\$21.25	\$4,887.50	
24-0-8 50% Slow Release + 2FE	24-0-11 50%POLYPLUS 2FE 1MN	026538	200	\$16.23	\$3,246.00	
13-2-5 + Dimension .15% 30% Slow Release	DIMENSION 0.15% 13-2-5M 30% POLYPLUS	023555	502	\$19.55	\$9,814.10	
Micro Plus	MICRO MIX CHELATED 2.5 GAL	084047	20	\$17.50	\$350.00	
Aerification Recovery	NO BID		i		7.000.000	
12-0-0 + Iron ZN	IRON + CHELATED ZN 2.5 GAL	084050	100	\$17.90	\$1,790.00	
Garry's Green 18-3-4	GREEN FLO 18-3-6 50%CRN 2.5 GAL	052447	24	\$30.00	\$720.00	

labels enclosed for all items



YANKEE TRACE GOLF COURSE FERTILIZER BID 2013 FERTILIZER BID PRODUCTS

1/31/2013

	UOM	Quantity	UNIT PRICE	TOTAL
23-4-10 80% NSN 2% FE (sgn 150)	bag	250	\$23.95	\$5,987.50
18-9-18 Contec DG (Anderson DG)	bag	40	\$52.90	\$2,116.00
15-0-4 w/ Merit 25% nsn (sgn 215)	bag	230	\$19.85	\$4,565.50
24-0-8 w/ 50% nsn 2% FE	bag	200	\$16.85	\$3,370.00
14-0-7 .125% Dimension 40% pcscu sgn 150	bag	502	\$26.85	\$13,478.70
12-0-0 .15% Dimension 25% xcu sgn 215 alt û	bag	502	\$16.98	Windship 1
Foltec Classic Minors (alt Micros plus)	gallon	50	\$38.10	\$1,905.00
18-3-4 Nitroplast (alt Gary's Green)	gallon	60	\$34.30	\$2,058.00
				\$33,480.70

CRAIG FRYMAN 937-603-8414

TURF SOLI		e: 877.433.7037	.042.1047		
10 GOLF	CLUB @ YAZ	KEE TRACE Q	UOTE DATE	1-30-1	3
City	F CENTER	E FILLE TI	HIS QUOTATION	IS VALID FOR _	GO_DAYS
		T	ERMS NET	5/10/13	
FERTI	LIZER BI				
SHIP WEEK	OF	DELIVERY VIA	FOB		202
QUANTITY ORDERED	DES	SCRIPTION	UNIT SIZE	UNIT PRICE	TOTAL AMOUNT
250	22-0-16	196 FE 75%	5013	28.50	7/25.00
	(SUB. FOR	21-3-12)			
40	18-9-18 D	Ğ	40.48	53.20	2128.00
230	15-0-4 w/	-2 MERIT	5013	20.49	4712.70
200	22-0-4 3	% FE 50%	5018	14.85	2970.00
	(SUB. FOR	24-0-8 29c FE)			
502	10-2-14 2	Dir. 40%	50LB	19.90	9989.50
50	MICROS PL	US.	GAL	34.00	1700.00
	AERIFICATIO.	W RECOVERY			NOBID
250	10-0-0+ 1	E+ IN+ MN	GAL	18.25	4562.50
60		14-2-4 W/AHINGS	GAL	25.00	1500,00
	(SUB FUZ	GARYS CREEN)			
400					

	AUTHORIZED BY
	V
ACCEPTED BY	DATE



4525 Bells Lane #106 Cincinnati, OH 45244

				4 100		-		
SOLD TO:	YAN	KIL TRACE G	SOIF CLB	SHIP TO:				
	Bid	KLL TRACE G ShEET F	EET, 1,2 EL					
Date Orde	red	1-30-13		Ship From)			
Request D	elivery			Forklift	Forklift			
Terms				Ship Via				
UNITS	SIZE	DESCR	IPTION	QUANTITY	UNIT PRICE	UOM	AMOUNT	
		AERIFICATIO	N RICOVERY	9 A			# 1950	
			•					
		12-0-0 7	-104	250 g.Al	#8 gA1		\$2000	
		0	.,		40/		61200	
		RENAISSANC		50 gal	126 gal		1300	
			rients					
			Special Instructio	ns:	100	TOTAL	# . 2	
Salesman's Signature: Markly City OF				- CENTE	eu,1/2		\$5250	
Customer's					Please Remit To The Above Address			
Signature:								

Cincinnati Mark Kochendorfer 513-600-5157 greenskeeper@fuse.net Southern Indiana, Northern Kentucky
Paul Hoarston
513-633-4644
pwhgcs@msn.com



2013 Yankee Trace	Chemical Bid					
** the hill company	0.000				Jim Dillard 6	514-5 <i>6</i>
Name	Alternate	Size	Qty Needed	Each Price	Total	
Ammor Tech 44	Stress Phiter	2,5	8	\$ 62,00	\$ 4	96.00
Quali Pro Chlorothalonil DF		10lb	35	\$ 46,00	\$ 1,6	10.00
Quali Pro Chlorothalonil 720		2,5	64	\$ 74.00	\$ 4,7	36,00
Chipco 26019		2.5	80	\$ 115.00	\$ 9,20	00.00
Primo Maxx		10 Link Pak	3	\$ 2,740.00	\$ 8,2	20.00
T-Nex	Primo Alternate	2,5	12	\$ 390.00	\$ 4,6	80,00
Quicksilver		Boz Bottle	8	\$ 130,00	\$ 1,0	40.00
Round Up Pro	Razor Pro	2.5	2	\$ 55,83	\$ 1	111.66
Secure		2,5	4	\$ 1,307.50	\$ 5,2	30,00
Tartan		2,5	10	\$ 1,100.00	\$ 11,0	00.00
Quali Pro TM 4.5		2,5	14	\$ 175.00	\$ 2,4	50,00
Sevin SL		2,5	2	\$ 100,00	\$ 2	00,00
Ferromec AC		2.5	100	\$ 29.00	\$ 2,9	00,00
Griggs Gary Green 18-3-4		2.5	24	\$ 70.00	\$ 1,6	80.00
8					\$ 53,5	53.66

Ph 859.815.8320 Fx 859.815.8322